250

N=11

Noa2 %0

V=2,200 V=2,150
V=1200 210

A=400

Asoom2_ 210
L=25m 120
L=50m 180
L=175m 180
L=495m 210
L=488m 180
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L=180m

8 L=30m 180
: L=140m -
- N 120
- A=520m2 0
- Y 350
- o .
’ L=300m A=2,700m2 180
- A=2,600 -
N=1
- : Nt 180
L=95m
- N~ 120
18 R6-1) N=6 180
- W-lscm L-3000m 350
i llilj%Om 190
. L=140m 5
i L=12m 120
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23 L=120m 90
24 L=60m 120
25 L=310m A=3,000m2 180
26 L=180m A=1,170m2 90
27 L=160m A=1,400m2 90
28 N=110 150
29 L=150m 90
30 L:ZI.30900 %
31 N=63 90
1 N=1 180
2 N=1 120
3 N=1 120
4 N=1 120
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5 N=1 120
6 N=1 120
7 N 120
9 N=1 120
10 N 120
1 A 400 %
A=1253
12 A=1937 150
A=869
13 N e N=1 Ne 180
14 A=62 120
15 N=2 N=1 120
16 N=1 N=1 %
17 N 6 180
18 N=1 120
19 N=26 %
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20 ) 150
21 N1 120
22 A=600 60
1 VU200 L=31838 150
2 HPA400 L=80.0 150
3 Bfé%“z%% om0 210
4 VU400 L=2398 180
5 @75 DIP GX L=2140 @100DIP GX L=97.0 120
6 @100 DIP GX L=1150 120
7 @50 PE L=114.0 90
8 @100 DIP GX L=100.0 90
9 @150 DIP GX L=200.0 90

578




10 @150 DIP GX L=2966.2 %
1 @100 DIP GX L1000 %
12 @100 DIP GX L=1300 %
13 @100 DIP GX L=3493 %
14 @150>=<3.1m3 min><11 210
N=1
15 R6 N=2 NeG 210
16 (R6) NS o 210
17 N2 o %
18 V=1,000m3 210
19 R6-1 i %
20 R6-2 @00 L0 %
21 @75 DIP GX L1610 120
22 @100 DIP GX L=1040 120
23 @200 DIP GX  L=2640 120
24 @250 DIP GX L=59.0 120
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25 @250 DIP GX L=266.0 120
26 @250 DIP GX L=69.0 120
27 @250 DIP GX L=160.0 120
28 R6 N=16 150
29 A=4,350m2 90
1 L=190 180
2 L=380.0m,W=4.0m 180
3 L=360 180
4 L=400m 180
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u U-240 L=6.0
u U-300 L 86 90
A 430
N 90
N
N 180
90
V=3,024
V=2,388 180
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